07590-05 &Il tg 42 DIN 70852

7= miiEA

M
M4l 1 0503,

I
e,
BERH,

BR:
FEZESNETEEASNHABEEH L.
WA, ATBAE AR RSRE B, B MEAYLRA 4.

B
T
|
o .
Q
N
07590-05-010 st M10x1 20 16 5 4,5 1,8
07590-05-012 b= M12x1,5 22 18 6 4,5 1,8
07590-05-014 b M14x1,5 24 20 6 4,5 1,8
07590-05-016 ) M16x1,5 28 23 6 55 2,3
07590-05-018 =t M18x1,5 30 25 6 5,5 2,3
07590-05-020 b= M20x1,5 32 27 6 5,5 2,3
07590-05-022 b= M22x1,5 36 30 7 6,5 2,8
07590-05-024 =t M24x1,5 38 32 7 6,5 2,8
07590-05-026 ) M26x1,5 40 34 7 6,5 2,8
07590-05-028 b M28x1,5 42 36 7 6,5 2,8
07590-05-030 b= M30x1,5 44 38 7 6,5 2,8
07590-05-032 b M32x1,5 48 41 8 7 3,3
07590-05-035 bRy M35x1,5 50 43 8 7 3,3
07590-05-038 =) M38x1,5 54 47 8 7 3,3
07590-05-040 =t M40x1,5 56 49 8 7 3,3
07590-05-042 b= M42x1,5 60 52 8 8 3,3
07590-05-045 b M45x1,5 62 54 8 8 3,3
07590-05-048 et M48x1,5 65 57 8 8 3,3
07590-05-050 Tt M50x1,5 68 60 8 8 3,3
07590-05-052 e M52X1,5 70 62 8 8 3,3
07590-05-055 b M55X1,5 75 67 8 8 3,3
07590-05-060 B M60x1,5 80 71 9 11 4,3
07590-05-065 et M65X1,5 85 76 9 1" 4,3
07590-05-070 e M70X1,5 90 81 9 11 4,3
07590-05-075 b M75X1,5 95 86 10 11 4,3

© norelem www.norelem.com



07590-05 &Il tg 42 DIN 70852

07590-05-080 =t M80X1,5 100 91 10 11 43
07590-05-10 FEE M10x1 20 16 5 45 1,8
07590-05-12 PEEE M12x1,5 22 18 6 45 1,8
07590-05-14 HBEr M14x1,5 24 20 6 45 1,8
07590-05-16 e M16x1,5 28 23 6 55 2,3
07590-05-18 itz M18x1,5 30 25 6 55 2,3
07590-05-20 HBEr M20x1,5 32 27 6 55 2,3
07590-05-22 e M22x1,5 36 30 7 6,5 2,8
07590-05-24 HBEr M24x1,5 38 32 7 6,5 2,8
07590-05-26 -1 M26x1,5 40 34 7 6,5 2,8
07590-05-28 itz M28x1,5 42 36 7 6,5 2,8
07590-05-30 HBEr M30x1,5 44 38 7 6,5 2,8
07590-05-32 e M32x1,5 48 41 8 7 33
07590-05-35 HBEr M35x1,5 50 43 8 7 33
07590-05-38 BEr M38x1,5 54 47 8 7 33
07590-05-40 itz M40x1,5 56 49 8 7 33
07590-05-42 L M42x1,5 60 52 8 8 33
07590-05-45 [ M45x1,5 62 54 8 8 33
07590-05-48 HBEr M48x1,5 65 57 8 8 33
07590-05-50 [ M50x1,5 68 60 8 8 33
07590-05-52 itz M52X1,5 70 62 8 8 33
07590-05-55 HBEr M55X1,5 75 67 8 8 33
07590-05-60 L M60x1,5 80 71 9 11 43
07590-05-65 HBEr M65X1,5 85 76 9 11 43
07590-05-70 FEE M70X1,5 90 81 9 11 43
07590-05-75 PEEE M75X1,5 95 86 10 11 43
07590-05-80 HBEr M80X1,5 100 91 10 11 43

© norelem www.norelem.com



